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Instruction: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives. 08
1) When supply of money increase, value of money will
a) Increases b) Decreases
c) Stable d) All the above
2) According to 2011 census, sex ratio of India is
a) 933 b) 927
c) 930 d) 940
3) In year Jawahar Emloyment Scheme was Introduced.
a) 1985 b) 1989
c) 1991 d) 2000
4) High yielding varity seeds program associated to
a) White revolution b) Blue Revolution
c) Green revolution d) None of these
5) Productivity is the problem of Indian Agriculture.
a) High b) Medium
c) Low d) Marginal
6) If direct taxes increase, then price level will be
a) Stable b) Increases
c) Decreases d) All the above
7) As aresult of rapid growth of population, prices of goods and services
a) Decreases b) Increases
c) Stable d) All the above
8) age group of people of country considered as labour force.
a) 10to 50 b) 10to 60
c) 15to 60 d) 25to 60
Q.2 Write short answers. (Any Four) 12
1) State any three features of green revolution.
2) Explain the concept of Poverty line?
3)  Explain the concept of rising prices.
4)  State the causes of high birth rate in India.
5)  State Fiscal measure to solve problem of rising prices.
6)  State cost push factors of rising prices.
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Q.3

Q.4

Write answers. (Any One)
1) Explain the broad features of Indian Population.
OR
2)  Explain the importance of agriculture in Indian Economy.

Explain the causes of Poverty in India?

https://lwww.solapurstudy.com/

SLR-AK-29
10

10

Page 4 of 4


https://www.solapurstudy.com/

	AK_SLR-AK-29.PDF

